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Game X55248 en

You are designing a video game of the classic shoot’em up genre. The player controls a
spaceship moving in an environment that continuously scrolls from top to bottom, giving
a sense of flying forward. The ship has to fight hoards of enemies to reach the end of each
stage.

In this problem you have to decide how many enemies to populate each stage with. The first
stage always contains 10 enemies. At each subsequent stage n > 1, the number of enemies
E(n) is the minimum number divisible by n such that E(n) > 2E(n — 1).

Input
The input consists of several test cases. Each test case consists of a single integer 1 < N < 61,
representing the total number of stages of the game.

Output

For each test case, a number on a single line representing the number of enemies on the last
stage N.

Sample input 1 Sample output 1

1 10

2 20

3 42

Sample input 2 Sample output 2
10 5510

Sample input 3 Sample output 3
60 6206646696254295120
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